=

ﬁ' teknosa

STEERING & SUSPENSION PART www.teknosa.co.za

STEERING e SUSPENSION
PARTS CATALOGUE

NISSAN

FOR PASSENGER & LIGHT COMMERCIALVEHICLES 2 a 2 4

Version 1



=y

teknosa

STEERING & SUSPENSION PARTS

1200.1400.1600.1800] FRONT |l BAKKIE.SEDAN 1971-1984
NI1310
Outer Tie Rod End Set
(011.4*013.4/M14*1.5)

R [ -

NI1311
& Inner Tie Rod End Set -
i (011.4*013.4/M14*1.5) Ii
NI1024 NI1114/NI1115 NI1025
Outer Tie Rod End Inner Tie Rod End Outer Tie Rod End
(011.4*@13.4/M14*1.5) (011.4*013.4/M14*1.5) (011.4*@13.4/M14*1.5)
1 S & =

NI1910

Lower Ball Joint(1.611.8
(015)

NI1910

Lower Ball Joint(1.61.8
(015)

L))
NI1911 NI1911
Lower Ball Joint1.21.4) Lower Ball Joint1.21.4)
(915) (915)

NI1912

Lower Ball Joint14oy)
(015)

NI1912

Lower Ball Joint(14oy)
(015)

NI2811 NI2811
Shock Mounting NI2714 Shock Mounting
Shackle Bush Kit
Polyurethane

(4pcs)

NI2710
Shackle Bush Kit
Polyurethane

Upper (4pcs)

1200.7400.1600.1800f  REAR

NI2711
Shackle Bush Kit
Polyurethane
Lower (4pcs)

O




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

D21 4X4.4X2 1980-1988

680.720

NI1312
Outer Tie Rod End Set
(013.2*015.2/M18*1.5)

NI1313
Inner Tie Rod End Set
(013.2*015.2/M18*1.5)
"v Mﬂ
NI1026 NI1026
Outer Tie Rod End NI1116 Outer Tie Rod End
(913.2*015.2/M18*1.5) Inner Tie Rod End (913.2°015.2/M18*1.5)

_ (013.2°015.2/M118"1.5)

NI1210
Tie Rod Assembly

-~

NI1613 NI1613
Upper Ball Joint Upper Ball Joint
(916) (916)
NI1923 NI1924
Lower Ball Joint Lower Ball Joint
(919.5) (919.5)




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

D212.2 KINGCAB.4WD 1984-1988

720

NI2210
Center Rod

Pl

NI1314
Outer Tie Rod End Set
(013.3*015.3/M16*1.5)

NI1315
Inner Tie Rod End Set
L] (013.3*015.3/M16*1.5) i

B

NI1010 NI1110 NI1010
Outer Tie Rod End Inner Tie Rod End Outer Tie Rod End
(013.3*@15.3/M16*1.5) (013.3*015.3/M16*1.5) (013.3*@15.3/M16*1.5)

NI1613 NI1613
Upper Ball Joint Upper Ball Joint
(916) (016)
NI1913 NI1913
Lower Ball Joint Lower Ball Joint
(919.6) (919.6)

NI2410
Idler Arm




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

AW/D22 4X2 1988-1998

1 TONNER
HARDBODY/SANI NI2212

Center Rod

5 = F_M NI2510
Pitman Arm

NI1312
NI2413 / Outer Tie Rod End Set
Idler Arm (013.2*015.2/M18*1.5)
NI2511
Pitman Arm
NI1313
Inner Tie Rod End Set N
- (013.2*015.2/M18*1.5) 5
NI1026 NI1026
Outer Tie Rod End NI1116 Outer Tie Rod End
(013.2*@15.2/M18*1.5) Inner Tie Rod End (013.2*@15.2/M18*1.5)
(013.2*015.2/M18*1.5)
NI1510
B —EE Link Stabilizer pa—0aE
L=150
NI1613 NI1613
Upper Ball Joint Upper Ball Joint
(916) (916)
NI1710 NI1711
Upper Control Arm Upper Control Arm
NI1925 _ _ NI1925
Lower Ball Joint [ ] Lower Ball Joint
(919.7) A é (919.7)
) Ni2010 NI2011 )
Lower Control Arm NI2712 Lower Control Arm
Shackle Bush Kit
Polyurethane
(2pcs)

1 TONNER NI2713 '
HARDBODY/SANI Shackle Bush Kit
Polyurethane
Upper (4pcs) .

O



=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

1 TONNER D22 4WD 1988-1998
HARDBODY NIZ210
Center Rod
NI1314 NI2410
Outer Tie Rod End Set . Idler Arm
(013.3*015.3/M16*1.5) :

NI1315
Inner Tie Rod End Set
LS (913.3*015.3/M16*1.5) w

NI1010 NI1110 NI1010
Outer Tie Rod End Inner Tie Rod End Outer Tie Rod End
(013.3*@15.3/M16*1.5) (913.3*015.3/M16*1.5) (013.3*@15.3/M16*1.5)
= w w ‘@

NI1613 . NI1613
Upper Ball Joint Upper Ball Joint
(016) r (916)
NI2145

S Lower Control Arm Bush
NI1712 NI1713
Upper Control Arm Upper Control Arm
NI1913 ﬁ ﬁ NI1913
Lower Ball Joint ~ ~ Lower Ball Joint
(019.6) NI2134 (019.6)
Lower Control Arm Bush
NI2012 NI2013
NI2712
Lower Control Arm Shackle Bush Kit Lower Control Arm
Polyurethane
(2pcs)
1 TONNER REAR . NI2713 '
HARDBOD Y/SA NI Shackle Bush Kit
Polyurethane
‘ Lower(4pcs) .

O



STEERING & SUSPENSION PARTS

"'[r|= teknosa

Year

NISSAN

1998-2001

HARDBODY FRONT

i Center Rod(M/S) i
NI2214

-

NI2213

5’ Center Rod(P/S)

NI1316 NI2411
Ni2413 - Outer Tie Rod End Set -~
Idler Arm(M/S) ? ; 174*’;1 6(:4 /M1n a1 g) 3 Idler Arm(P/S)
t NI1317
Inner Tie Rod End Set
(014.4*016.4/M18*1.5) v
NI1027 i i NI1027
Outer Tie Rod End NI1117 Outer Tie Rod End
(¢14 4*(016.4/M18*1.5) Inner Tie Rod End | (214.4*016.4/M18*1.5) | 4/M18*1 5)

(914. 4*¢16 4/M18*1.5)
NI1211
Tie Rod Assembly

NI1614 NI1614
Upper Ball Joint NI1813 Upper Ball Joint
(916.2) __ Upper Control Arm Bush _ (916.2)
NI1714 NI1715
Upper Control Arm Upper Control Arm
NI1925 = - NI1925
Lower Ball Joint ‘ Lower Ball Joint
@19.7) ~(919.)
C 9
° NI2010 NI2011 °
Lower Control Arm Lower Control Arm
NI2715 NI2712

Shackle Bush Kit Shackle Bush Kit

Polyurethane Polyurethane

HI Rider(4pcs) (2pcs)

HARDBODY REAR
‘ NI2713 .
Shackle Bush Kit NI2716
Polyurethane Shackle Bush Kit
. Upper (4pcs) ‘ Polyurethane
. HI Rider(4pcs) .

O




"'[r|= teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN
01-08/98-99/08-

HARDBODY/SANI

D22/D25 2WD-STD/HI RIDER

FRONT

NP300

NI1011(Hi-Rider)

Outer Tie Rod End

(0914.6*018.6/M14*1.5)

&

NI1027(Standart)

Outer Tie Rod End

(@14 4*016.4/M18*1.5)

NI2212

i Center Rod(Hi-Rider) i

NI2213

i Center Rod(IM/S) i

NI2214
% Center Rod(P/S) ]

NI1318(Hi-Rider)
Outer Tie Rod End Set
(014.6*018.6/M14*1.5)

NI1319(Hi-Rider)
Inner Tie Rod End Set
(015*@17/M14*1.5)

. o

NI1118(Hi-Rider)
Inner Tie Rod End
(015*@17/M14*1.5)

NI1212
Tie Rod Assembly

NI1316(Standart)
Py Outer Tie Rod End Set P
= (014.4*016.4/M18*1.5) =

NI1317(standart)
Inner Tie Rod End Set
(014.4*016.4/M18*1.5)

NI1117(Standart)
Inner Tie Rod End
(014.4*016.4/M18*1.5)

NI1011(Hi-Rider)

Outer Tie Rod End

(914.6*018.6/M14*1.5)

el

NI1027(Standart)

Outer Tie Rod End

| (914.4*016.4/M18*1.5) | 5)

o —~— )

NI1211
Tie Rod Assembly

b0 o0 __4

Continue to next page...

@




"'[r|= teknosa

STEERING & SUSPENSION PARTS

NISSAN

D22/D25 2WD-STD/HI RIDER

HARDBODY/SANI
NP300

FRONT

Year

01-08/98-99/08-

NI1813
Upper Control Arm Bush
NI1614 & NI1614
Upper Ball Joint ' Upper Ball Joint
(016.2) _ _ (016.2)
[(' N\ ] » : x\’i
) NI1716 NI1717 ~
Upper Control Arm Upper Control Arm
4] i
NI1925 NI1925
Lower Ball Joint = = Lower Ball Joint
(019.7) < ) (019.7)
o’ L i o
NI2010 NI2011
Lower Control Arm Lower Control Arm
NI2413 NI2411
Idler Arm(M/S) Idler Arm(P/S)
NI2715
Shackle Bush Kit
Polyurethane
HI Rider(4pcs)
NI2712
Shackle Bush Kit
Polyurethane
(2pcs)
HARDBODY/SANI REAR
NP300 ‘ NI2713 ‘
Shackle Bush Kit
Polyurethane
‘ Upper (4pcs) '

O




=y

teknosa

STEERING & SUSPENSION PARTS

NISSAN

HARDBODY/NP300

1998-2010

NI2211
Center Rod

: :

NI2412
Idler Arm
NI1318
Outer Tie Rod End Set
(014.6*018.6/M14*1.5)
NI1319
Inner Tie Rod End Set
(015*@17/M14*1.5)
NI1011
Outer Tie Rod End NI1118
(014.6*@18.6/M14*1.5) Inner Tie Rod End
& (015*@17/M14*1.5)

NI1011

Outer Tie Rod End

(914.6*018.6/M14*1.5)

el

NI1212
Tie Rod Assembly
NI1813 &
NI1614 Upper Control Arm Bush NI1614
Upper Ball Joint Upper Ball Joint
(016.2) g & (016.2)
ﬁfﬂ%‘ ’fﬁ\
NI1716 NI1717
Upper Control Arm Upper Control Arm
NI1914 NI1914
Lower Ball Joint Lower Ball Joint
(019.7) NI2134 (019.7)
Lower Control Arm Bush
NI2014 NI2015
Lower Control Arm Lower Control Arm
NI2715
Shackle Bush Kit
Polyurethane
HI Rider(4pcs)
HARDBODY/NP300 REAR . T3 ' . NIZTT6 .
Shackle Bush Kit Shackle Bush Kit
Polyurethane Polyurethane
‘ Lower (4pcs) . HI Rider(4pcs)

O




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

ALMERA ALL MODELS 2001-2006
NI1320
Outer Tie Rod End Set
(013*@15.5/M14*1.5)
NI1028 NI1028
Outer Tie Rod End Outer Tie Rod End
(013*015.5/M14*1.5) NI1410 (013*015.5/M14*1.5)
Rack End
i" (16*1.0/14*1.5/286)
NI1321
] Outer Tie Rod End Set [
g (013*015.5/M12*1.25) g
NI1029 - - NI1029
Outer Tie Rod End NI1411 Outer Tie Rod End
(013*015.5/M12*1.25) Rack End (013*015.5/M12*1.25)
) (16*1.0/12*1.25/285) -
T = -—-_—_—ew =@===—- =
NI1511
Link Stabilizer aﬁ&
L=92.5
NI1512/NI1513
Link Stabilizer
L=65
NI2810 < = NI2810
Stabilizer Bar Bush Stabilizer Bar Bush
NI2110
NI1926 @ Lower Control Arm Bush NI1926
Lower Ball Joint '3 Lower Ball Joint
(014.75) é (014.75)
NI2016 NI2017
Lower Control Arm Lower Control Arm
NI2812 NI2812
Shock Mounting Shock Mounting
e ‘ ‘ e
NI2111
Lower Control Arm Bush



=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

ALMERA ALL MODELS
DT1310
Outer Tie Rod End Set
i (011.7*@14.6/M12*1.25) @
DT1010 DT1011
Outer Tie Rod End DT1410 Outer Tie Rod End
(011.7*014.6/M12*1.25) Rack End (011.7*014.6/M12*1.25)

i (14*1.5/12*1.25/227) ﬁ

NI1514
Link Stabilizer
L=255

DT2110

Lower Control Arm Bush

DT1910 DT1910
Lower Ball Joint Lower Ball Joint
(916) (916)
DT2010 DT2011
Lower Control Arm Lower Control Arm
DT2111
Lower Control Arm Bush
NI2813 NI2813
Shock Mounting Shock Mounting




"'[r|= teknosa

STEERING & SUSPENSION PARTS

NISSAN Il
INTERSTAR FRONT Jj ALL MODELS
NI1322
Outer Tie Rod End Set
(016.4*020.2/M16*1.5)
NI1012 e 2 NI1013
Outer Tie Rod End Outer Tie Rod End
(016.4*@20.2/M16*1.5) NI1413 (016.4*@20.2/M16*1.5)

Rack End
(14*1.5/16*1.5/178)

,?“
L
R
!

NI1515/ NI1516
Link Stabilizer
L=127

NI1610 NI1610

Upper Ball Joint A A Upper Ball Joint
£ @

(016.1)

NI2112
Lower Control Arm Bush
NI1915 & NI1915
Lower Ball Joint Lower Ball Joint
(022) é (022)
NI2018 }l ‘( NI2019
Lower Control Arm L > Lower Control Arm
NI2113
Lower Control Arm Bush
NI2112
NI1916 Lower Control Arm Bush NI1916
Lower Ball Joint Lower Ball Joint
(024) (024)

NI2021

Lower Control Arm

NI2020

Lower Control Arm

& &
2 &

NI2113

Lower Control Arm Bush

INTERSTAR REAR NIZ570
Bush

D



=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

JUKE ALL MODELS
NI1323
Outer Tie Rod End Set
ﬁ (011.9*@14.7/M12*1.25) i
NI1014 NI1015
Outer Tie Rod End NI1414 Outer Tie Rod End
(011.9*014.7/M12*1.25) Rack End (011.9*014.7/M12*1.25)

(16*1.0/12*1.25/217)

e e D ——4

NI1517
Link Stabilizer
L=284

T

- —&

NI2144

Lower Control Arm Bush

NI1927 NI1927
Lower Ball Joint A ‘%6 gﬁ 4 Lower Ball Joint
(918) (918)
NI2022 NI2023
Lower Control Arm ‘ ' Lower Control Arm

NI2115

Lower Control Arm Bush

NI2826 NI2827
Shock Mounting Shock Mounting




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

ALL MODELS 1991-1996

MAXIMA

NI1320
Outer Tie Rod End Set
(013*@15.5/M14*1.5)

NI1028 NI1028
Outer Tie Rod End Outer Tie Rod End
(013*015.5/M14*1.5) NI1415 (013*015.5/M14*1.5)
Rack End

i., (16*1.0/14*1.5/308)

NI1416
Rack End
(16*1.0/14*1.5/310)

ﬂ_

NI1427
Rack End
(16*1.0/14*1.5/261)

_ﬁ*iﬂﬁ—*

NI1518
Link Stabilizer
L=84.5

© s

o oS
@\ ©
"@@"

° e
NI1928 A 3 NI1928
Lower Ball Joint Lower Ball Joint
(014.76) (014.76)

NI2024

Lower Control Arm

NI2025

Lower Control Arm

NI2116

Lower Control Arm Bush

@



=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

MAXIMA 1996-2000
NI1320
Outer Tie Rod End Set
(013*@15.5/M14*1.5)
NI1028 NI1028
Outer Tie Rod End NI1415 Outer Tie Rod End
(013*@15.5/M14*1.5) Rack End (013*015.5/M14*1.5)
P (16*1.0/14*1.5/308) )
e@ -m======-?-
NI1519
Link Stabilizer
L=98
%e o
e ‘ ’ ' ' ®
© o)
NI1520/ NI1521
Link Stabilizer
L=90
NI1917 Q NI1917
Lower Ball Joint Lower Ball Joint
(011.6) (911.6)

O Q

NI2026

Lower Control Arm

NI2027

Lower Control Arm

L ”“ ¥ 0y 'i« f




=y

teknosa

STEERING & SUSPENSION PARTS

NISSAN Il
MAXIMA
NI1320
Outer Tie Rod End Set
(013*@15.5/M14*1.5)
NI1028 NI1028
Outer Tie Rod End Outer Tie Rod End
(013*015.5/M14*1.5) NI1415 (013*015.5/M14*1.5)

) Rack End
i (16*1.0/14*1.5/308)

NI1416
Rack End
(16*1.0/14*1.5/310)

ﬂ_

NI1519
Link Stabilizer
L=98

o o

o @/5
@\ ®
O’@ @'O

NI1520/ NI1521
Link Stabilizer
L=90

NI1929

Lower Ball Joint @
(@15) é

NI1929

Lower Ball Joint
(015)

QO

NI2028

Lower Control Arm

NI2029

Lower Control Arm




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

MICRA 2004-2010
NI1324
Outer Tie Rod End Set
| (011.8*015/M14*1.5)
NI1016 NI1419 NI1017
Outer Tie Rod End Rack End Outer Tie Rod End
(011.8*015/M14*1.5) (14*1.5/14*1.5/308) (011.8*015/M14*1.5)
NI1325
3 Outer Tie Rod End Set -
n (011.8"014.6/M14*1.5) |
NI1018 NI1030
Outer Tie Rod End Outer Tie Rod End
(011.8*014.8/M14*1.5) (011.8*014.8/M14*1.5)
NI1522
Link Stabilizer
L=248

¥ 4 & -

NI1918 NI1918
Lower Ball Joint NI2117 Lower Ball Joint
(216) Lower Control Arm Bush (16)

NI2030 NI2031

Lower Control Arm Lower Control Arm
NI2118
Lower Control Arm Bush
NI2814 NI2911 NI2815
Shock Mounting Bush Shock Mounting

B
@




=y

teknosa

STEERING & SUSPENSION PARTS

NISSAN =l
MICRA

DT1310

Outer Tie Rod End Set
i (011.7*014.6/M12*1.25) @
DT1010 DT1011
Outer Tie Rod End Outer Tie Rod End
(911.7*014.6/M12*1.25) DT1410 (011.7*014.6/M12*1.25)
Rack End

i (14*1.5/12*1.25/227) @

NI1514
Link Stabilizer
L=255

DT2110

Lower Control Arm Bush

DT1910 DT1910
Lower Ball Joint Lower Ball Joint
(016) (016)

DT2010

Lower Control Arm

DT2011

Lower Control Arm

DT2111

Lower Control Arm Bush




=y

teknosa

STEERING & SUSPENSION PARTS

NISSAN rear
MICRA
NI1345
Outer Tie Rod End Set
(011.8*@14.6/M12*1.25)

NI1053 NI1054
Outer Tie Rod End NI1434 Outer Tie Rod End
(011.8*014.6/M12*1.25) Rack End (011.8*014.6/M12*1.25)
(14*1.5/12*1.25/227)

NI1522
Link Stabilizer
L=250

¥ 4 & *

DT2110

Lower Control Arm Bush

DT1910 DT1910
Lower Ball Joint Lower Ball Joint
(016) (016)

N/ \ [
NI2070 NI2071

Lower Control Arm Lower Control Arm

DT2111

Lower Control Arm Bush




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

MURANO 2005-2009
NI1326
Outer Tie Rod End Set
- (014.8*018.6/M14*1.5) ‘o
NI1031 NI1031
Outer Tie Rod End NI1420 Outer Tie Rod End
(014.8*018.6/M14*1.5) Rack End (014.8*018.6/M14*1.5)
(16*1.0/14*1.5/262) a

NI1523 / NI1524
Link Stabilizer
L=308
Q (o} ? r (o} o
NI2138
NI1930 _ Lower Control Arm Bush NI1930 _
Lower Ball Joint Lower Ball Joint
(020) (O) (O) (020)

@ @

@ O

NI2032 NI2033
Lower Control Arm Lower Control Arm
NI2137
Lower Control Arm Bush
NI2817 NI2817
Shock Mounting Shock Mounting
MURANO REAR
NI1525/ NI1526
Link Stabilizer
L=85

O



=y

teknosa

STEERING & SUSPENSION PARTS

NISSAN =l
MURANO

NI1327

Outer Tie Rod End Set
I (014*0118.65/M14*1.5) I
NI1421
Rack End
16*1.0/14*1.5/240
NI1032 _(“ : T’_ NI1033
Outer Tie Rod End AV e _ Outer Tie Rod End
(014*018.65/M14*1.5) - t( = = )?1 - (014*018.65/M14*1.5)
NI1420
Rack End
(16*1.0/14*1.5/262)
NI1527 / NI1528
Link Stabilizer
L=300
NI1930 NI1930
Lower Ball Joint & ? ? ‘ Lower Ball Joint
(020) (020)

@ O

NI2140

Lower Control Arm Bush
, / NI2067

Lower Control Arm

NI2066 \ \\\ \

Lower Control Arm

4 /4
1

L 2
©

NI2818
Shock Mounting

NiI2818
Shock Mounting

!QQ
D

Ni2141

_ - Lower Control Arm Bush
MURANO REAR
NI1529/NI1530
NI2819 Link Stabilizer NI2819
Shock Mounting L=105 Shock Mounting




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

NAVARA ALL MODELS
PATHFINDER NI1328
Outer Tie Rod End Set
i (014.8*@18.63/M16*1.5) i
NI1034 NI1422 NI1035
Outer Tie Rod End Rack End Outer Tie Rod End
(014.8*@18.63/M16*1.5) (20*1.0/16*1.5/202) (014.8*018.63/M16*1.5)
NI1531/NI1532
Link Stabilizer
L=65
NI1611 NI2139 NI1611
Upper Ball Joint Upper Control Arm Bush Upper Ball Joint
(014.75) (014.75)
NI1718 NI1719
Upper Control Arm Upper Control Arm
NI1919 NI1919
Lower Ball Joint Lower Ball Joint
(922 - - (022)
Q NI2119 Q
Lower Control Arm Bush -
NI2034 NI2035
Lower Control Arm g g Lower Control Arm
NI2820 — — NI2820
Shock Mounting Shock Mounting
NI2717
Shackle Bush Kit
Polyurethane
(2pcs)
NAVARA NI2713
PATHFINDER Shackle Bush Kit '
Polyurethane
Lower(4pcs) .
NI2718
Shackle Bush Kit
Polyurethane
Upper (2pcs)

@



=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

ALL MODELS

NAVARA

NI1329
Outer Tie Rod End Set
(014.7*@18/M14*1.5)

NI1019 NI1020
Outer Tie Rod End NI1417 Outer Tie Rod End
(014.7°018/M14*1.5) Rack End (014.7°018/M14*1.5)
(16*1.5/14*1.5/214)

NI1533
Link Stabilizer
L=210

S 3 W
ke, ke,

NI1612 NI1612
Upper Ball Joint Upper Ball Joint
(014.8) NI1810 (014.8)
Upper Control Arm Bush
NI1720 NI1721
Upper Control Arm Upper Control Arm
NI1920 NI1920
Lower Ball Joint Lower Ball Joint
(024) Ni2120 (024)
Lower Control Arm Bush

NI2036

Lower Control Arm

NI2037

Lower Control Arm

o



=y

NISSAN

NP200

NI1036
Outer Tie Rod End
(012*014.5/M14*1.5)

teknosa

STEERING & SUSPENSION PARTS

ALL MODELS

NI1330

Outer Tie Rod End Set

(012*@14.5/M14*1.5)

NI1423

Rack End

(12*1.0/14*1.5/194)

- "
—
M i

MN1411

Rack End

(14*1.5/14*1.5/181)

sy —— A s

NI1931
Lower Ball Joint
(018)
NI2038
Lower Control Arm
NI1934
Lower Ball Joint
(018)
NI2068
Lower Control Arm
RE2710
Repair Kit
NI2821
Shock Mounting

@IIR

NI1435

Rack End

(14*1.5/14*1.5/193)

NI2121

Lower Control Arm Bush

NI2121

Lower Control Arm Bush

Year

NI1037
Outer Tie Rod End
(012*014.5/M14*1.5)

e |

NI1931

Lower Ball Joint

NS (018)

NI2039

Lower Control Arm

NI1934
Lower Ball Joint
(018)
NI2069
Lower Control Arm
RE2710
Repair Kit
NI2821
Shock Mounting

FII@




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

ALL MODELS

NV200

NI1331
Outer Tie Rod End Set

1 (911.85*014.7/M12*1.25) r

NI1038 NI1039
Outer Tie Rod End NI1424 Outer Tie Rod End
(011.85*014.7/M12*1.25) Rack End (011.85°014.7/M12*1.25)

(14*1.5/12*1.25/200)

NI1514
Link Stabilizer
L=255

NI2117

Lower Control Arm Bush

£ 8

NI1931

Lower Ball Joint

(918) ’)

NI1931

Lower Ball Joint
(018)

NI2040

Lower Control Arm

NI2041

Lower Control Arm

@

NI2822 Ni2122 NI2823
Shock Mounting Lower Control Arm Bush Shock Mounting

NI2721
Shackle Bush Kit
Polyurethane

(1pcs)

NV200 REAR
. NI2719 .

Shackle Bush Kit
Polyurethane
Upper (2pcs)

NI2720
Shackle Bush Kit
Polyurethane

Lower (1pcs)

o




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

NV350 INPENDULO
NI1332

Outer Tie Rod End Set

(017.7*021.6/M20*1.5)
NI1040 NI1040

Outer Tie Rod End NI1425 Outer Tie Rod End
(017.7*021.6/M20*1.5) Rack End (017.7*021.6/M20*1.5)
> (24*1.5/20*1.5/275) N
@, @,
NI1531/NI1532
Link Stabilizer
@ L=65 o)

NI1722
Upper Control Arm

NI1723
Upper Control Arm

NI2135

Lower Control Arm Bush

NI1932 NI1932
Lower Ball Joint Lower Ball Joint
(019.7) (019.7)

NI2042

Lower Control Arm

NI2043

Lower Control Arm

@ @
) )
NI2136

Lower Control Arm Bush

NI2721
Shackle Bush Kit
Polyurethane

(1pcs)

NV350 REAR

NI2719 NI2720
Shackle Bush Kit S Shackle Bush Kit
! Polyurethane . Polyurethane

Upper (2pcs) Lower (1pcs)

o




=y

NISSAN

PATROL

NI1021

Outer Tie Rod End

(915.4*017.57/M30*1.5)

-

) o)

PATROL REAR

teknosa

STEERING & SUSPENSION PARTS

NI1333

Outer Tie Rod End Set

(915.4*017.57/M30*1.5)

= o

e =

&

NI1334
Inner Tie Rod End Set

'I (014.1.5*015/M22*1.5) |'

L

NI1111
Inner Tie Rod End
(014.1.5*@15/M22*1.5)

— o

NI2712
Shackle Bush Kit
Polyurethane

(2pcs)

1992-1998

NI1022

Outer Tie Rod End

(015.4*@17.57/M30*1.5)

= o

e -

NI1534
Link Stabilizer
L=130

& w—_

NI2713 ‘
Shackle Bush Kit

Polyurethane
Upper / Lower (4pcs) .




=y

teknosa

STEERING & SUSPENSION PARTS

NISSAN
T PATROL  FRONT | 1998-2004

NI1333
Outer Tie Rod End Set

‘ (915.4*017.57/M30*1.5)

-
)

NI1334
& Inner Tie Rod End Set

'I (014.1.5*015/M22*1.5) |'

NI1021 NI1111
Outer Tie Rod End Inner Tie Rod End

(915.4*017.57/M30*1.5) (014.1.5*015/M22*1.5)

¥

NI1022
Outer Tie Rod End
(015.4*017.57/M30*1.5)

& ) G =k

Q.

NI1535
Link Stabilizer
L=162

S m—

NI2712

Shackle Bush Kit
Polyurethane

(2pcs)

NI2715
Shackle Bush Kit
Polyurethane
HI Rider(4pcs)

PATROL REAR

NI1534
Link Stabilizer
L=130

& w—_

‘ NI2713 .
Shackle Bush Kit
Polyurethane

. Upper / Lower (4pcs) .

O



=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

PRIMASTER AEELdC )
NI1335
Outer Tie Rod End Set
(012*@14.6/M14*1.5)
L SN o "
NI1041 NI1042
Outer Tie Rod End NI1426 Outer Tie Rod End
(012*@14.6/M14*1.5) Rack End (012*@14.6/M14*1.5)
(12*1.0/14*1.5/263)
@m deme———fle s ﬂ g
NI1536
Link Stabilizer
L=279

b ——y

NI2123

Lower Control Arm Bush

NI1921 NI1921
Lower Ball Joint Lower Ball Joint
(017.84) (017.84)
NI2044 NI2045
|__Lower Control Arm Lower Control Arm
Lower Control Arm Bush
NI2824 NI2824
Shock Mounting Shock Mounting

© Qo




“(Tteknosa

STEERING & SUSPENSION PARTS

NISSAN —
PRIMERA 1998-2002
NI1336
= Outer Tie Rod End Set =
(013°015.5/M12*1.25)
NI1043 ) ‘-—‘ NI1043
Outer Tie Rod End
NI1411 (013*015.5/M12*1.25)

Outer Tie Rod End
(013*015.5/M12*1.25)
= Rack End
(16*1.0/12*1.25/275)
NI1427

Rack End
(16*1.0/14*1.5/261)

*ﬁiﬂ.iﬁﬁ—*

NI1537
V“' Link Stabilizer ".\ﬁ"

L=163

i)

NI1811 NI1812 NI1811
Upper Control Arm Bush a Upper Control Arm Bush a Upper Control Arm Bush
g NI1724 NI1725 Q
Upper Control Arm Upper Control Arm
NI1922 8 8 NI1922
Lower Ball Joint Lower Ball Joint
(014.83) ‘ . (014.83)
O NI2126 C)
Lower Control Arm Bush
NI2046 NI2047
Lower Control Arm | | Lower Control Arm
NI2124/ NI2125
NI1926 Lower Control Arm Bush w NI1926
Lower Ball Joint (1) e ™ (L) Lower Ball Joint
(014.75) g (014.75)

-

NI2049
Lower Control Arm
90-96 P10

NI2048
Lower Control Arm
90-96 P10

PRIMERA REAR _NI1538
Link Stabilizer
L=115

ﬁ’i i’ 'i i

=
=

O




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

QASHQAI ALL MODELS
NI1337
Outer Tie Rod End Set
ﬁ (011.8*014.7/M14*1.5) i
NI1044 NI1428 NI1045
Outer Tie Rod End Rack End Outer Tie Rod End
(011.8*014.7/M14*1.5) (22*1.5/14*1.5/233) (011.8*014.7/M14*1.5)
NI1527 / NI1528
Link Stabilizer
L=300

g

NI2127
NI1930 Lower Control Arm Bush NI1930
Lower Ball Joint Lower Ball Joint
(920) (920)

@ O

NI2050 NI2051

Lower Control Arm Lower Control Arm
Ni2822 0 0 NI2823
Shock Mounting Shock Mounting
NI2114
Lower Control Arm Bush

QASHQAI REAR NI1539 / NI1540

Link Stabilizer
L=143.5

LYl o

Q



=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

QASHQAI ALL MODELS
NI1338
Outer Tie Rod End Set
- (011.8*014.6/M14*1.5) -

NI1046 RE1421 NI1047
Outer Tie Rod End Rack End Outer Tie Rod End
(011.8*014.6/M14*1.5) (16*1.5/14*1.5/214) (011.8*014.6/M14*1.5)
NI1517
Link Stabilizer
L=284

Tt

Ni2128
i NI??I?J - Lower Control Arm Bush . ng:flg -
ower Ball Join ower Ball Join
(020) O (o (020)

@ O

NI2052

Lower Control Arm

NI2053

Lower Control Arm

€9

NI2129

Lower Control Arm Bush

NI2828 NI2828
Shock Mounting Shock Mounting




“(Tteknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

QASHQAI/
NI1346
- Outer Tie Rod End Set -
& 2/M14*1.5) -
NI1055 NI1436 NI1056
Outer Tie Rod End Rack End Outer Tie Rod End
?) 2/M14*1.5)

2IM14*1.5)
& =
® &

NI1549
Link Stabilizer
L=300

@ &9 P

NI2073

Lower Control Arm

NI2072

Lower Control Arm

QASHQAI/ REAR
NI1550/ NI1551
Link Stabilizer

L=300
NI2614
Lateral Link

T——9 O =

O




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

SENTRA BI12.N13 1987-1992
NI1339
e Outer Tie Rod End Set =

(913*@15.5/M12*1.25)

ot

NI1048 NI1048

Outer Tie Rod End Outer Tie Rod End
(013°015.5M121.25) NI1429 (013°015.5M121.25)
Rack End
L (16*1.0/12*1.25/260)
k - ———i
1S1310
Outer Tie Rod End Set
i’ (013.55'015.1/M14*1.5) i
1S1011 1S1011
Outer Tie Rod End Outer Tie Rod End
(013.55"015.1/M14*1.5) NI1430 (013.55"015.1/M14*1.5)
Rack End
(14*1.5/14*1.5/286)
h - ——————i e e = “
NI1518
Link Stabilizer
(=845
% R
e ' ‘ ' ' ®
¢ ©
NI2130
NI1926 Lower Control Arm Bush NI1926
Lower Ball Joint Lower Ball Joint
(014.75) % @ (014.75)

NI2054

Lower Control Arm

NI2055

Lower Control Arm

NI2131

Lower Control Arm Bush

NI2810
Stabilizer Bar Bush

v
o




=y

teknosa

STEERING & SUSPENSION PARTS

NISSAN

SENTRA-SABRE BI3.N15

FRONT

Year

1992-1997

NI1339
Outer Tie Rod End Set
(013*@15.5/M12*1.25)

NI1048
Outer Tie Rod End
(013*015.5/M12*1.25)

&

NI1922
Lower Ball Joint
(014.83)
NI2056
Lower Control Arm
NI2825
Shock Mounting

NI1411
Rack End
(16*1.0/12*1.25/271)

NI1518
Link Stabilizer
L=84.5

NI2130

Lower Control Arm Bush

NI2116

Lower Control Arm Bush

NI1048
Outer Tie Rod End
(013*@15.5/M12*1.25)

NI1922

Lower Ball Joint

(014.83)

-

NI2057

Lower Control Arm

NI2825
Shock Mounting

SENTRA-SABRE REAR

NI1541
Link Stabilizer
L=175

A

o




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

1997-2002

SENTRA-SABRE

NI1339
Outer Tie Rod End Set 2
(013*@15.5/M12*1.25)

NI1048 NI1048

Outer Tie Rod End NI1429 Outer Tie Rod End
(013*015.5/M121.25) Rack End (013*015.5/M121.25)
- (16*1.0/12*1.25/271) -

NI1320
Outer Tie Rod End Set
(013*@15.5/M14*1.5)

NI1028 NI1028
Outer Tie Rod End Outer Tie Rod End
(013*015.5/M14*1.5) NI1412 (013*015.5/M14*1.5)

Rack End

(16*1.0/14*1.5/286)

e e

NI1518
Link Stabilizer
L=84.5

© QD
(&) Q
é’\ )‘§
o, .9

NI2130
NI1922 Lower Control Arm Bush NI1922
Lower Ball Joint Lower Ball Joint
(014.83) (014.83)
NI2056 NI2057
Lower Control Arm Lower Control Arm
NI2825 NI2825
Shock Mounting Shock Mounting

NI2116
Lower Control Arm Bush
SENTRA-SABRE REAR N5
Link Stabilizer
L=175

o




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

ALL MODELS

SENTRA

NI1323
Outer Tie Rod End Set

(011.9°014.7/M121.25)
NI1014 R A NI1075

Outer Tie Rod End Outer Tie Rod End
(011.9*014.7/M12*1.25) NI1431 (011.9*014.7/M12*1.25)
Rack End
(16*1.0/12*1.25/217)

" Sy S —

NI1542
Link Stabilizer
L=285

4____?!F___¥

Ni2142

Lower Control Arm Bush

g 8

NI1933

Lower Ball Joint
(018)

NI1933

Lower Ball Joint
(918)

NI2058

Lower Control Arm

NI2059

Lower Control Arm

@9

NI2143

Lower Control Arm Bush

NI2826 NI2827
Shock Mounting Shock Mounting




=y

teknosa

STEERING & SUSPENSION PARTS

NISSAN

SKYLINE

NI1340

Outer Tie Rod End Set

(913.5*@15/M14*1.5)

NI1023
Outer Tie Rod End
(013.5*015/M14*1.5)

b .

NI2060

Lower Control Arm

NI1418

Rack End

(14*1.5/14*1.5/138)

¥ )

NI2061

Lower Control Arm

Year

NI1023

Outer Tie Rod End

(013.5*@15/M14*1.5)

—




=y

NISSAN

TERRANO

teknosa

STEERING & SUSPENSION PARTS

Year

NI2215
Center Rod

M

NI1049
Outer Tie Rod End
(014.4*@16.4/M16*1.5)

>—

NI1341
Outer Tie Rod End Set

i (014.4*016.4/M16*1.5) i

NI1342
Inner Tie Rod End Set

! (014.4016.4/M16*1.5) !

NI1113
Inner Tie Rod End
(014.4*016.4/M16*1.5)

NI1543 &
Link Stabilizer ;
1=89 ‘ ‘M

—_

NI1049
Outer Tie Rod End
(014.4*@16.4/M16*1.5)

_—

NI1613 NI1613
Upper Ball Joint Upper Ball Joint
(216) (916)
NI2145
Lower Control Arm Bush
NI1712 NI1713
Upper Control Arm Upper Control Arm
NI1913 NI1913
Lower Ball Joint Lower Ball Joint
(019.6) (919.6)

NI2012

Lower Control Arm

TERRANO REAR

NI2013

Lower Control Arm

NI2712
Shackle Bush Kit
Polyurethane

(2pcs)

NI2713
Shackle Bush Kit
Polyurethane
Upper / Lower (4pcs)

O



=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

ALL MODELS

" TUDA/LIVINA  FRONT |
GRAND LIVINA NI1331

Outer Tie Rod End Set
(011.85*@14.7/M12*1.25)

NI1038 NI{424 NI1039
Outer Tie Rod End Rack End Outer Tie Rod End
(011.85*@14.7/M12*1.25) (14*1.5/12*1.25/200) (011.85*014.7/M12*1.25)

NI1522
Link Stabilizer
L=250

¥ v X . +

NI2117

Lower Control Arm Bush

£ 8

NI1931

Lower Ball Joint
(918)

NI1931

Lower Ball Joint
(018)

NI2040

Lower Control Arm

NI2041

Lower Control Arm

NI2118

Lower Control Arm Bush

NI2814 NI2815
Shock Mounting Shock Mounting

NI2714
Shackle Bush Kit
Polyurethane

(4pcs)

REAR

TIIDA / LIVINA

NI2710
GRAND LIVINA

Shackle Bush Kit
Polyurethane

Upper (4pcs)

NI2711
Shackle Bush Kit
Polyurethane
Lower (4pcs)

D




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

X-TRAIL 2001-2008
NI1343
Outer Tie Rod End Set
(014.8*018.8/M14*1.5)
= (J b :
NI1050 NI1050
Outer Tie Rod End Outer Tie Rod End
(014.8*018.8/M14*1.5) NI1412 (014.8*018.8/M14*1.5)
Rack End

o) (16*1.0/14*1.5/286)
L (3 = —GQB =m=a- -] d

NI1544 / NI1545
Link Stabilizer
L=65

aha

NI2132

Lower Control Arm Bush

NI2062

Lower Control Arm

NI2063

Lower Control Arm

tl}}.

NI2817
Shock Mounting

NI2817
Shock Mounting

NI2133
Lower Control Arm Bush
X-TRAIL REAR
NI1546
Link Stabilizer
L=115

& o6 6
D




=y

teknosa

STEERING & SUSPENSION PARTS

Year

NISSAN

2007-2014

X-TRAIL

NI1337
Outer Tie Rod End Set
(011.8*014.7/M14*1.5)

B

NI1044 NI1428 NI1045
Outer Tie Rod End Rack End Outer Tie Rod End
(011.8*014.7/M14*1.5) (22*1.5/14*1.5/233) (011.8*014.7/M14*1.5)

NI1544 / NI1545
Link Stabilizer
L=65

oédq

NI1527 / NI1528
Link Stabilizer
L=300

NI1930

Lower Ball Joint
(020)

@

NI2127 NI1930
Lower Control Arm Bush Lower Ball Joint
NI2050

l l (020)
Lower Control Arm

O
NI2822 ; @

Shock Mounting i ; '
@ NI2114 @
Lower Control Arm Bush

X-TRAIL REAR
NI1539/ NI1540
w Link Stabilizer w
NI2912 L=143.5 NI2912

NI2051

Lower Control Arm

NI2823
Shock Mounting

Bush Bush
NI2610 NI2912 NI2611
NI2912 Lateral Link Bush Lateral Link NI2912
Bush Bush
NI2612 NI2912 NI2613
Lateral Link Bush Lateral Link

D



=y

teknosa

STEERING & SUSPENSION PARTS

NISSAN Il
X-TRAIL
NI1344
Outer Tie Rod End Set
_ (011.8°014.6/M14*1.5) _
NI1051 NI1052
Outer Tie Rod End NI1432 Outer Tie Rod End
(011.8*014.6/M14*1.5) Rack End (011.8*014.6/M14*1.5)
(16*1.5/14*1.5/224)

NI1527 / NI1528
Link Stabilizer
L=300

NI2064

Lower Control Arm

NI2065

Lower Control Arm




